linearity:
- measured ratio = [activity with tube O] / [activity of lineator combination]

	combination #
	lineator combination
	m ci
	measured ratio
	Expected ratio
	percentage difference %

	1
	O
	309.00
	1.00
	1.00
	0.00

	2
	O+A
	92.60
	3.34
	3.32
	0.56

	3
	O+B
	41.00
	7.54
	7.18
	4.93

	4
	O+A+B
	11.99
	25.77
	24.78
	3.98

	5
	O+C
	2.39
	129.29
	131.00
	1.30

	6
	O+A+C
	0.70
	438.92
	429.41
	2.21

	7
	O+B+C
	0.34
	908.82
	912.50
	0.40

	8
	O+B+A+C
	0.10
	3143.44
	3088.46
	1.78


	requirement


	upon installation and then every three months


	Limit (10%)
	All measurements are within 10%

	Test duration 
	Not to exceed 4 minutes

	Test passed/failed
	passed


.

Plotting the activity in m ci (on a log scale) vs. combination# gives the following graph, which indicates the linear behavior.
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